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Mobile Fhone or any other electronic gadget in the examination hall is strictly prohibited. A cardidate found
wilh any of such objectionable material with hinvher will be strictly deall as per reles,
Please cirrectly fill your Roll Mumber in O.M.R. Sheet. 5 marks will be deducted for filling wrong or
incomplete Roll Number.

. If there is any sort of ambiguity/mistzke cither of printing or factual nature then out of Hindi and English

Version of the question, the English Version will be treated as standard.

Warning 1€ u candidute is found copying or il any unauthorised material is found in hisMer possession, F1R,
would be lodged against hinvher in the Police Station and he/she wonld Hable to be prosecuted under
Section 3 of the R.PE. (Prevention of Unfrirmeans) Act, 1992. Commission may also debar him/
her permanently Trom all future examinations of the Commission.
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1  The equation for curve number is given as :

B N=sror— @ ov=2228
H TEC P THH 3§ TER &

O R
®) B 25?38 S—S @ V= 2522?: :

2 Effective rainfall hyetograph is plot of :
(1) Rainfall intensity and time (2) Rainfall depth and time
(3) Runoff rate and time (4) Accumulated rainfall and time

IERBEE XU SHEIE T9H O &
() s@@ e ik |qad 2) G eI AR T
(3) Ew =X oY W (4) THEA aXEE ST g9

3  The maximum size of the raindrop is :

(1) 6 mm (2) 10 mm

3) 2 mm 4 0.5 mm

TEE B d& B AETH ABR T

(1) 6 AT (2) 10 &,
(3) 2 W @ 0.5 WA

4  The double mass curve technique is adopted to :
(1) Check the consistency of rain gauge records
{2) To find the average rainfall over a number of years
(3) To find the number of rain gauge required
(4) To estimate the missing rainfall data

T W HY UG Bl SYERl BT §
(1) wxdid wioe e & Rygediaar & e
(2) oF% aW W WM & ofga e
3) AW HOE w G8N A
@) WA (THE) 4E oESl & ATHA
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5 Which of the following statement is correct ?

(1) Evaporation from water bodies and soil masses are termed as
evapotranspiration.

(2) Evaporation from water bodies and soil masses together with the
transpiration from vegetation is termed as evapotranspiration.

(3) Evaporation, interception and depression storage combined together
form evapotranspiration.

(4) Evaporation, transpiration and surface runoff are main components
of evapotranspiration.

Pt ¥ & @ oow % (@) ¥ O?

(1) w1 9 ¥ gamnem ofk g—en %0 wEigiedem e ¥

(2) W 489 ¥ wEuiem @R -mEr B wig avaly seae
TEEEIIE wey ¥

(3) TEAMIF TRAWE o Rulye due w1 sweer e waigadem
EEICIEE S|

(4) TEEE, SEae ol waE Teii® Yeigadem % e uew

6 An area is classified as a drought prone area if the probability P of
occurrence of a drought is :

() 04<P<10 (2) 02 <P <040

(3) 0.1 <P <020 (4) 00 <P <020

fertl &t 1w 4 (ga) § e e s ¥ e el P
W™ geRdl Bl ¥

(1) 04<P<1L0 (2) 02 <P <040

(3) 0.1 <P <020 (4) 0.0 <P <020

7 Base-flow separation is performed :
(1) On a unit hydrograph to get the direct-runoff hydrograph
(2) On a flood hydrograph to obtain the magnitude of effective rainfall
(3} On flood hydrograph to obtain the rainfall hydrograph
(4) On hydrograph if effluent streams only

AG-TA GUFHIT H GG o E

(1) IHE TERUE ¥ N W6 TESS F
(2) 9G TESUE ¥ TGRS @ B ST ST
(3) UG TEENTG ¥ IEE FELUTE B AFHI
(4) TR ¥ bAN TRES A W
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8 The flood routing by hydrologic method is based on the :
(1) Energy equation
(2) Equation of motion
(3) Equation of continuity

(4) Momentum and continuity equation

TS UEl § 916 @0 APl S, S R WX S ¥
(1) S GIE

(2) T FHH

(3) HEH B FHHE

(4) AT wd gee i

9 If time of concentration is more than the rainfall duration then the Rational
method will :

(1) Not be able to calculate runoff volume
(2) Not be able to calculate peak runoff rate
(3) Be able to calculate runoff rate

(4) Be able to calculate the peak runoff rate

T T W THEWE a6l Bl oy W SRl g & a9 uieE wEi
(1) <SG HE0 B WEl WUET el BT TG

(2) TEOW TG & W e UM A8l WY STl

(3) TG T @ GEH AT B IHA ©

(4) TEOH % # OGE TFT BT WA S

10 Hydraulic routing method makes use of :
(1) Energy equation only
(2) Continuity equation only
(3) Momentum equation only
(4) Both Continuity and Mémentum equations

TESWME B GE M B STET B §
(1) fub =t wdew

2) fTub wma wfem

(3) Tk W& wimwm

(4) =T T ST TR T
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M If the duration of unit hydrograph approaches zero, the resulting unit
hydrograph is known as -

(1) The limiting unit hydrograph

(2) The threshold unit hydrograph

(3) The instantaneous unit hydrograph

(4) The saturated unit hydrograph
aﬁm@mma%saﬂ%mﬁmaﬁ%ﬂaﬂﬁﬁmm@mm
ST ¥ -

() =5 g de (@) T THE e

G) ™ @wE g ) W @R T

12 Which statement is TRUE about the hydrologic cycle ?
(1) The hydrologic cycle occurs only once each year.
(2)  Evaporation is the downward movement of water through the ground.
(3)  All the water in our environment recycles itself over and over again.

(4) The moon is the eénergy source that causes the water to move through
the cycle.

TRRING T & AR ¥ we-w e wm ¥ 2

() wmie @ /b oo of ¥ uw ax a9 3

@ AR T AN AW A v W e wed E)
3) snﬁwﬁmﬁwwamwﬁaw%l
) Wﬁwﬁaﬂa%aﬁw%waﬁww%l

13 What type of material is most likely to be transported as suspended load 7
(1) Clay particles
(2) Sand particles
(3) Gravel particles
(4) Al of these are equally ]ikely'to be transported as suspe.nded load
mmwwﬁwmmﬁwﬁw% ?
(1) == &9 '
) 9w wu
(3) I=d Hr
() - 5 W T A ¥ oqwT A Y, ws ww ¥ wy A
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Movement of water as it passes from the ground surface in to soil is
called as :

(1) Infiltration (2) Percolation

(3) Evaporation (4) Interceptions

W B YA S 9-u9E o oM ¥ o ¥, seen ¥
(1) shweze () TWERIE

() T (4) FEEEE

Evapotranspiration in a crop field surrounded by dry fallow land will be
higher than that surrounded by vegetation, due to :

(1) Conduction of heat
(2) Oasis effect

(3) Clothesline effect
(4) Convection of heat

w g B YagrEded o @ e i ¥ B g & @
SR T gt B ga X PR eRw 9

(1) ToAT & WA

@) o SEX (%)
() TNUHART GHE
(4) TN B/ HEAIH

How much of the Earth's water is stored in underground aquifers ?

(1) Less than 1% (2) About 5%
(3) About 10% (4) About 20%
e weeEl ¥ gelt w1 fea W dwe e ¥
(1) 1% § & Q) 5% & TR
(3) 10% % UuH @) 20% % T

Who introduged the concept of IUH (Instantaneous Unit Hydrograph) ?

(1) Clark (2) Nash

(3) Sherman (4) Berpard
Tadwin gfre Tmswe (IUH) & swam fee g fear?
() @& (Clark) (2) = (Nash)

(3) I (Sherman) (4) < (Bernard)

02_Al 6 (TSN [Contd...
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In constructing synthetic Hydrograph the information needed is/are -

(1) Time to peak
(2} Peak volume
(3) Length of flow
(4) All of these

(1) RBr@ET (peak) =r wwg
(2) WrET (peak) omuae
(3) wE® W der

(4) S o

A unit hydrograph has :

(1) One unit of peak discharge

(2) One unit of time base of direct runs off

(3) One unit of rainfall duration

(4) One unit of direct runoff
I TEsme F P § o
(1) " Raest & @ o6

2) N FAE B wHy TN N @ S

(B) TEN F TH B W R
@) e Feiw A uw e

Soil degradation takes place due to -
(1)  Geological erosion 2)

(3) Glacial erosion | @)

T w1 R P mro @ i b

(1) <ieiefse frmeEe 2)
(3) W Proae @

02 A} 7

Accelerated erosion

Plant erosion

Trmes frmEe
TEfa-—9Ey e

IHNMMN (Contd...




21

22

23

24

A plot of rainfall intensity versus time is called :

(1) Hydrograph (2) Mass curve

(3) Hyetograph (4) TIsohyets

e M6 S ATER e b gy g 9y g e ¥, @ weEw § o
(1) FEITH (2) =@ ®d

(3) TEIAAE @) engdieEed

The initial infiltration rate is at capacity rate if the intensity of rainfall is :
(1) Less than the average rate of infiltration

(2) Less than infiltration capacity of soil

(3) Equal to or more than the infiltration capacity of soil

(4) None

S AT PRI X Seam B gfy TETEl e @ &% 8
(1) THwIE X F ofrgd & s &

2) oft @ FRREIE afw ¥ A B |

() Uit & TERIE g % oavER T st

@) P ot T

The formula for estimation of evapotranspiration using only temperature
and day length is :

(1) Thornthwaite formula (2) Penman formula

(3) Christiansen formula (4) Blaney criddle formula
Faw aoEe ud Rad wed ¥ Ydiede e A wiRE o
(1) aieee B (2) YT Wi

() FIERITET BRI (4) T weA B

Temporary gully control structures are structural measures such as :
(1) Woven-wire

(2) Brushwood and logs

(3) Loose stone and boulder check dams

(4) All of above

mﬂﬁﬁﬁﬂﬁﬂmﬂmﬁmwaﬁﬁﬁﬁﬁ
(1) ¥ 39 N

2) FwEs T A

() S ®NM Ud 9l 96 9

(4) S G
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25
(1) Earth material, vegetation

@

Stones and branches of trees

Materials used for constructing permanent gully control structures are :

(3) Masonry, reinforce concrete, earth etc,

{4) None of above

WE T PR d b Pmin § e oy e wwie ¥

qft wrell o STty
TR o U3 @ zefmi

(1)
(2)
3)
(4) ST A ¥ B T8
26
(1)
2
3)
@

Square
Triangular
Parabolic

Rectangular

T, YRR wete, aft gt

The natural grassed waterways are generally found in the shape of :

Tl e ghd T e 59 weR ¥ ol e B o

ElETN

Bryer (Bra)
TR

i

(1
(2)
©))
4

27
(1) Map
(3) Drawing
wderr w1 ¥g P A E -
(1) =am

3) el

02_A] 9

The object of surveying is to prepare a :

Cross-section

2y
(4) Model.

2) BE—dwE

(4) =isd

[HNAE [Contd...




28 The length of a link in 2 chain is :
(1) 20 cm
2) 30 cm
3) 35 cm
4) 40 cm
sk W N fie A we T ¥ o
(1) 20 ¥R
(2) 30 oW
(3) 35 AW
(4) 40 ¥

29  For ranging a line, the number of ranging rods required is :
(1) At least two
(2) At least three
(3) At least four
4) At least five

T WEA @R F g e deg @ den B wed § o
(1) ®9 & &I
(2) w1 ¥ ®H aF
(3) X A
@) w1 ¥ ¥ U

30 The preliminary Inspection of the area to be surveyed is known as ;
(1) Rough survey
(2) Primary survey
(3) Route survey

(4) Reconnaissance survey

PP Ff & & woT we aren akwe flme weeer ¥ o
(1) w w

2) WRis® T

(3) e wd

@) d@es 9
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31 The closing error in a closed traverse is adjusted by :

(1) Lenmanns rule (2) Siide rule

(3) Bowditch's rule (4) Simpson's rule
99 € ¥ R IR e S W o b

() wFE & (2) wrEe &

(3) «Ra = =d @) T w1 =

32 The working edge of the alidade is known as the :

(1) Parallel edge

(2) Beveled edge

(3) Parallax edge

(4) Fiducial edge

OEISE % HRIGEA Rey @ Y@ wEw ¥

(1) TR Rewm

2) driee feama

(3) TueEw TR

(@) wgfmw ferma

. 33 Spirit level in plane table is used for :

(1) Centering

(2) Sighting

(3) Marking north

(4) Leveling

< e W fafe duw sod fig swm o
1) &=

(2) uRfeT

(3) v Rem & TA

4) wafe

34 A datum surface in leveling is a :
(1) Horizontal surface (2) Vertical surface
(3) Level surface (4) None of the above

WA ¥ e waw BT ¥ -
(1) Briwi=d waE (2) afam wds
(3) waw waE @) T A ¥ wd a8
02 A] 11 IHNIN (Contd...




35  Which of the following method of contouring is most suitable for hilly terrain ?
(1) Direct method |
(2) Square method
(3) Cross section method

(4) Tachometric method

el fE N el W % R gad et alw ¥ o
(1) e Tl

2) B TABI

(3) HE-—JaEE A

(@)  TEdE TUH

36 A relatively permanent point of reference whose elevation 1s known as :
(1) Reduced level |
(2) Bench mark
(3) Level surface
(4) Datum point
s gaeie e g W oRlEa wF W ¥
(1) frggs waw
(2) a =#H
(G) e Taqw
@ ¥ fog

37 Doubling the length of the slope increases soil erosion by about :
(1) 1.4 times
(2) 2.0 times
(3) 2.4 times
{4) 3.0 times

FAH @ waS A B WX i e S SR ¥
() 149X
(2) 20 R
3) 24 TN
(4) 3.0 9]
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38  When the grade and dimensions of 2 channel are known, the terrace channel
carrying capacity can be calculated from -

(1) Rational method
(2) Cook's method
(3) Manning's formula
(4) Thiesson method

T Tk AT & IS TG AN W O ¥ av 3w e 3 SR s
& SR 3@ el ¥ W aad ¥

(1) e ushr
2) FT% H w=fa
(3) wfT & wiegw
(4) frwT wgf

39 The height of the graded bunds should not be less than
(1) 1.00 m
(2) 075 m
(3) 045 m
(4) 2.00 m

e dEE W SUE W A oW WS S iRy -
(1) 1.00 drex
(2) 0.75 drex
(3) 0.45 Aex
@) 2.00 T

40  Table top bench terraces are suitable for areas of
(1) High rainfall
(2) Medium rainfall
(3) Low rainfall
(4) Irrespective of total rainfall .
A I du W A % fe sugw b
(1) S 9@
(2) weH G
3) = swm
(4) T 9WHE F SEl

02_A] 13 | BAE (Contd..
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A typical sand dune has highest steeper slope to leeward side of :

(1) '15 per cent (2) 33 per cent

(3) 50 per cent (4) 65 per cent

FE T, SAA B AEAT TEG WM WEe ave @ e s ¥
(1) 15 yla9@ (2) 33 ufasw

(3) 50 R (4) 65 WK

The life of temporary check dam can be expected upto :
(1) 20 years

(2) 15 years
(3) 8 years
(4) 2 years

SRATE UB IAY F SGTHE B ATHT AN Y FHA R
(1) 20 9™

@) 15 @@
(3) 8 ¥ ™
(4) 2 9

In an area having general slope of 10%, bench terracing is to be done
to bring the land under cultivation, 4.5 m width of land is sufficient for
doing necessary agricultural operations. If risers are to be laid on 1:1
gradient, the vertical interval between two consecutive benches will be :

(1) 045 m (2) 0.50 m
(3) 4.00 m | (4 1.00 m
wp & fEm e w10 wiasa € SEe 39 TR i W gt
ATTE BN ¢ A 45 dRY A qfh w ¥, S w5 e ¥ R
¥

X TESRE 1] = W @ 9@ 91 I X & HAFM &
i f= g

(1) 0.45 WX (2) 0.50 A=
(3) 4.00 AR (4) 1.00 fiex

02_A] 14 LA (Contd...
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If depth of water over the crest of a spillway is 45 cm. Assuming
(0.45)%2 = 0.3, the length of the crest of the drop spillway for a discharge
of 53 mYsec will be :

(1) 045 m 2 1.77m

(3) 10.00 m (4) 530 m

O Wi & IR U U Y TS 45 AW ¥ At (0455372 =03 "R
A # o\ B wE e R R & 5.3 mUsec w :

(1) 045 WX (2) 1.77 Hrex

(3) 10.00 HrT @) 5.30 Wi

In a gravity dam of base width "b" the maximum permissible value of
eccentricity "e" is :

(1) bs (2) b4

(3) b6 4) b3

5@ I afg @ e bt A sEe aiftmmm AR e TERRRS
W Il B

(1) b8 (2) b/

(3) b6 (4) b3

Soil conservation practices are ;
(1) Contour farming and terracing
(2) Strip farming

(3) All of above

(4) None of above

I W@ o veket ¥ o
(1) @gl M AR TR
(2 w9 @R

() SWEa |

(4) U ¥ ¥ B TE

Soil erosion is a process of transportation of soil by :

(1) Wind (2) Water

(3) Glacier (4) All of the above
P 3OeM, g @ WEFRT 39 Z| E o

(1) ®=n 2) =

(3) wRER . (4) S R
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Forces opposing the soil uplift and entrainment are :
(1) Gravity, friction and cohesion

(2) Wind velocity and particle wt.

(3) Friction and cohesion only

(4) None

qftr emfwe ofik g @1 JeY il afear ¥

() IR, = gE wifEEs
(2) T IFA T B W AN
@) R wfn wd wifea

@ =g =

The design of permanent structures is done based on the return period of :
(1) 53-10 years

(2) 10-20 years

(3) 25-30 years

(4) None of above

@ degn o g fredt frdme % amam w fen stan

(1) 5-10 =&

@) 10-20 W

(3) 25-30 @&

@ wriem ¥ ¥ BE A

Soil detachability increases as the

(1) Size of particles reduces

(2) Size of particles increases

(3) Impact angle of raindrop reduces

(4) Length of slope reduces

i gueEl Geal & Wi

(1) @9 hF SR "SAT

() FON @ AH Sl T

() <@ 3 B EIEHREG B U §
@) W @ TR vl ¥

02 Al 16 AR [Contd...
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If the land slope is increased four times, the velocity of water flowing
over it will increase :

(1) Three times {2) Two times

(3) Negligible (4) Four times

9 o W TR 94X wed ¥, @ UF B 9o @ iy Se
(1) @9 IR (2) [«

() = (awurr [ SRdE) (4) 9K WX

Sediment yield is the :

(1} Total soil loss from an area

(2) Product of gross erosion and delivery ratio
(3) Both (1) and (2)

{4) None

e Y (dws) T

() ™ & ¥ ff 9fy =

() W e e Rl egue @ on

@ (D & ) I

@ = @

Removal of thin and fairly uniform layer of the soil from the land surface
by mn off water is called as :

(1) Torrent erosion (2) Sheet erosion

(3) Rill eroded (4) Glacial erosion

OGO ¥ B U G veelt & afow qf s 9 sew R
HEART §

(1) A= e (2) 9T T

@) fe = @) wfwe e

Loose rock fill dams are preferred for gully control, where :
(1) Gullies are of greater depth (2) Gullies are of lesser depth
(3) Tones are readily available (4) None of above

T Frimor & fag Al wmm @ 9 3 9 wuEa & o R, S|
() Tl = e A o8t (2) el W TR awt @
3) aF S e ww 4) Swa § ¥ & W
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© What type of material is most likely to be transported as suspended load?

(1) Clay
(2) Silt
(3) Sand
(4) Depends on the "energy" of the stream

g vt @ wonll 99 @i alth qeud gaika @ s & 7
(1 =

Q) T

(3) s

(4) ORI B S U SMYUR

Why is soil erosion more common in areas that lack adequate vegetation?
(1) Because gravity pulls on the plants and increases erosion

(2) Because plant roots help keep the soil in place

(3) Because soil erosion is stopped by reduced vegetation

{4) Because the lack of adequate vegetation affects the soil pressure and
erosion rate

Wel WX YRRl @ 81 & a8 U Wi SO g F uran o & ?
() w6 oram B ostex NEf 9T €@l oW gedr ¥

(2) e O A WS qH B TH TR W @ U :

@) wifs qf [em Tl @ avie d e B

(4) i P T B BN W G E T [T W W 9EE
wedl ¥

In India the current rate of soil loss for agrcultural land is :
(1) 6-12 t/ha/year

(2) 7.5-15t/ha/year

(3) 20-30 t/ha/year

(4) 80-100 t/ha/year

ARG § I THEH B adAH g ey ot § few ¥ -

(1) 6-12 =/ ¥®. /AW

Q) 75-15 =1/ TF. [ O

(3) 2030 =/ ¥, | EW

(4) 80-100 =/ ¥, / @&

02_A] | 18 UM (Contd...
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Design of vegetated waterways is based upon :
(1) Manning's formula

(2) Cook's method

(3) Thiessen method

(4) Universal soil loss equation

T gedst w gt ouww enufa ¥
(1) a1 wiew

@) BF B B

(3) @ W e

@) ghedw gft 79 wleo

The minimum wind velocity required to initiate movement of soil particles
is known as :

(1) Critical velocity

(2) Threshold velocity

(3) Dynamic threshold velocity
(4) Intrinsic velocity

qf w1 T ¥g gEaw v @ Qs S SRy ¥ o
(1) Tefeww am

(2) ooy an
(3) oNEhRE Ahaq 9T
(@) she=dim I

Contour bunding is used in soils having slopes less than about :
() 6%

Q) 9%
G) 12%
4y 15%
Hoed 4T SE g W A TR ¥ Rer wiw s ¥ W o ¥
(1) 6%
2 %
B) 12%
@) 15%

02_A] 19 KRR (Comtd...
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Sediment is transported in channels by :

(1) Saltation (2) Suspension

(3) Bed load movement (4) All the above three factor
el § e @ W 59 g el ¥ o

(1) T ey (2) wWHW

(3) =W W @) s ' 9w

Sloping inward bench terraces are effective in :
(1) Heavy rainfall areas

{2) Medium rainfall areas

(3) Low rainfall areas

{(4) Drought prone area

WM 578 d9 SO w9Esn) § o

(1) w1 a9 &3
(2) w=H 9ut &9
3) = o= =

@ geear v 8w

The ratio of the diameter of a circle with same area as the basin to the
maximum basin length is called as :

(1) Circulatory ratio (2) Elongation ratio
(3) Compactness factor (4) Stream length ratio

h % SEHIY W SHl & b AU w1 oTguE, 44N @ aftmad wead
dedl Wl §

(1) §geell oW (2) TEREE Sgad

(3) DRI FD (4) ¥ wEE AU

The line of seepage in earthen embankment is also called :
(1) Phreatic line

(2) Lower most flow line

(3) Water pressure line

(4) Runcff line

fftbta gudeie § 9w o W @1 TEr O wed © o
(1) WEs aEA

(2) IR Wl WA

(3) | 9@ WA

(4) TASTH @A
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65 In the rational formula Q = 0.0028 CIA,.I is intensity of rainfall in :
(1) mm/hr
{2) cm/hr
(3) m/hr
(4) km/hr
W B Q = 0.0028 CIA § I axam & daan v ¥
(1) Puflr /=
@) o/
(3) R/ HaA
@ &)

66 Pick up the correct statement :
(1) Sloping cutwards bench terraces are effective in low rainfall areas.
(2) Sloping inward bench terraces are effective in low rainfall areas.
(3) Table top bench terraces are effective in low rainfall area.

{4) Broad base terraces are constructed in small and scattered land
holdings.

T U W qqel

() @ s 9 Soiw I wom g & & guEer) ¥
2) W7 gTas da g A e e 83§ uNEerd ¥
(3) <= @ 9 du Tufem e sww TR &Sl § uweEwrd ¥

(4) dR-emuR W hE B ud Crifyg seim & o =
GICIEES

67 Which of the following statement is correct ?
(1) The purpose of the wing wall is to prevent seepage under the structure.
(2) Wing wall is constructed to prevent swirling effect of water.
(3) Chute spillway provides temporary storage on upstream side.
(4) Wing wall is constructed at the angle of 60° from side wall
fre & 4 B waw wf ¥ 2
() B RER w1 sty O & R NS B Je ¥
2 R e o SEvm e @ AW R # Qe )
(3) I N FA 9 WE & R TIE HE S|
@) f&T feaw ws fREr & 600 e 9 S M S ¥
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68  Which of erosion is extremely harmful for the land ?
(1) Raindrop erosion
(2) Sheet erosion
(3} Rill erosion
(4) Gully erosion
4 % g dF--a1 30 afieay et &P
(1) R s+
2) 9T e
3) R@
(4) T Fer

69  Area lost due to contour bunding is given by :
(1) 0.305(s / (a + b))
{2) sxb/VI
() 100 sx b/ VI
4 W,xh/2
HUgX T F @R W Ot & e A e wew
(1) 0305(s / (a + b))
2) sxb/ VI
() 100 sx b / VI
(4 W.xh/2

s

70 In the stream having depth upto 3 m, the suspended sediment is measured
at the depth of :

(1) 06d

2) 08d

3) 154

(4 o024

s g e e 3 AT E w@ru@%sﬁ%ﬁﬁzﬁwméw
A S HEHAT T :

1) 06 d

(2) 08d

G) 154d

@ 02d
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Which of the following outlet is not made in drop spillway ?

(1) Straight (2) Flared
(3) Curved (4) Box
v diwy ¥ frw oo @ @ s swar ?
) e @2 s

() YARR (4) drE

Contour bunding is to be done in a land having 4% gradient. If horizontal
interval of the bund is 100 m, the vertical interval between the bunds will be :

(1) 25m

(2) 025 m

3) 4m

4 25m

HUZ SR I g F T o " ¥ fwsmn Maw 4% 21 @R Sl
§S B ey 100 9 ¥ Y afEmw ot QM 5@ & ¥ o
(1) 25 *fex

(2) 0.25 fex

(3) 4 W3

(4) 2.5 Wex

The woven wire dams are backed with Well tamped earth fill slope of atleast :
(1) 4:1 2) 3:1

3) 2:1 4 1:1

RV WM TE g A N W PE S e ¥ Y e e B
(1 4:1 2 3:1

() 2:1 4 1:1

To construct a loose rock dam, a trench is made which forms the base
of dam on which the stones are laid in rows. The approximate depth of
the trench"should be :

(1) 10 cm (2) 30 em
(3) 50 om (4) 70 cm
O TEF I H TN A TR o IR ¥ o T A @1 num o ¥
ot 99 W TR wET ¥ 7@ S ¥ 39 @ T e B o) iy
(1) 10 I @) 30 &R
(3) 50 & @) 70 ¥h
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75  In building the slab dams the posts at an interval of 1.2 m are set in row
across the gully to a depth of about :

(1) 30 cm

{(2) 50 cm

(3) 70 c¢m

(4) 100 c¢m

we 3 & i F w9 12 9 % ok ¥ T & A e oEa
¥ @ few TS @ W@ W &P

(1) 30 &

(2) 50 ¥

(3) 70 W

4) 100 %

76 - The ability of rock or soil to allow water to flow through it is called as
(1) Non-point pollution
(2) Irngation
(3) Permeability
(4) Water conservation
I W g A ArEm e W 9 9% O deeRl ©
(1) TR N (Fg)
2) fieg
(3) IehRiwm
(4) < "u

77  Most groundwater withdrawn in the world is used for :
(1) Industry
(2) Irrigation
(3) Drinking water
(4) Swimming pools
frvg & =R o s frer o sudm g o
(1) wEm
(2) o
3) 99 w1 s
@) EFmR
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78  With respect to the Earth's land surface, which of the following expressions
is correct ?

(1) Precipitation = evaporation — runoff
(2) Precipitation = runoff — evaporation

(3) Precipitation = evaporation + runoff

{4) Precipitation = evaporation % runoff
gl Bl S wwe F WS- P sgEem @@ ¥ e
(1) WEdRIM = QauyF - eis
(2) UHNORIN = WG — UaNRe™
(3) IR = VAERIE +
(4) WA = TANRIA x T

79  What is the best method for calculating excess rainfall and runoff ?
(1) Hortonian
(2) SCS Curve Number
(3) Green and Ampt
(4) Snyder Unit Hydrograph
SR AW AR s @ PR # e e qdewr ¥ o
(1) w@fEw
(2) SCS &g =R
(3) AT &R T
@) dRT gfe g

80 The boundary between the saturated zone and the unsaturated zone is
called the :

(1) Water table

(2) Aquifer

(3) Aquiline

(4) Porosity

dga U origw A ¥ &g B g weenr ¥
(1) <& §a8 (FRY &)

(2) T

(3) GRS

4) o
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Excessive pumping in relation to groundwater well can cause -
(1) The water table to decline (2) A cone of depression

(3) The well to go dry 4y All of these
e U § SO W gae ¥ O B g § o
1) s wWT ¥ free (2) BhyE = s
(3) PO g@ M @ = ad

Which of the following is the term given to water moving horizontally
through soil eventually reaching river ?

(1) Percolation (2) Ground flow

{3) Interception (4) Through flow

Frer % ¥ B Pt ufenn s @ erierew it &, aig §, W@
G H wEd ¢ 7

(1) YHRI (2) URUS Yl

(3) ITWYH (4 g W

The evaporation pan coefficient of class-A pan is generally taken as :
1y 170 2) 070

(3) 0.07 @ 12

gl A o & TAORIM UF Sifege e R s ¥

(1) 7.0 (2) 0.70

(3) 0.07 (4 1.2

What is the difference between the saturated and the unsaturated Zones
of ground water ?

(1) The saturated zone has a higher porosity than the unsaturated zone
(2) The saturated zone has a lower porosity than the unsaturated zone

(3) The pore spaces in the saturated zone are completely full of water; the
pore spaces in the unsaturated zone are not completely full of water.

(4) The pore spaces in the saturated zone are not completely full of water;
the pore spaces in the unsaturated zone are completely full of water

g o orEgw Y ww & fiw = oT 7 )

() §g< &y ¥ S fowm N ¥ omgw A @ gem §

(2) €< & ¥ e R N ¥ ooy dw H gew A

(3) ¥gw &= H Rl W @ s Y ww A ¥ SR B @ owigw
o H gl 9w wa ¥ W T A ¥

@) W< &% # b wwl ¥ 9w qf @ wa T S ¥ owis e
WFE TS &5 ¥ o ¥ O a2y ¥ '
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85  Rainfall intensity is measured by :
(1) A hygrograph.
(2) Evaporimeter
(3) Simple rain gauge
{(4) Automatic raingauge
I B A T AW SR
(1) eEzo
(2) UErmeT
(3) UMY SER HIEH
(4) wafdd TUE TUS

86 The maximum tolerance in a 20 m chain is :
1) £2 mm
(2) +3 mm
(3) =5 mm
(4) =8 mm
20 BRX S@en H TEAH wed @ i ¥
(1) =2 Bl
(2) +3 fpd
(3) =5 fish
(@) =8 Bl

87 Height of instrument method of leveling is :
(1) More accurate than rise and fall method
(2) Less accurate than rise and fall method

(3) Quicker and less tedious for large number of intermediate sights
(4) None of the above

WA BUHOl AT P FAE T
(1) v ds ¥ WEE T Bl usia b ogeEe A
(2) w0 9w ¥ e wd wiW usi & geEd §

@) dm ot Fu whw ¥ T W vem ¥ geoifRde (wem) Wz
&N B

(@) IR H ¥ BE TN
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89

2

Size of Theodolite is specified by :
(1) The length of telescope

(2) The diameter of vertical circle
(3) The diameter of level plate
(4) The diameter of upper plate

dREWEe o ser iyad & -
() TE @ W

(2) Tiew TE B SEARY
(3) ©EH We B SHHET

@ T < W ISEde

Electronic Theodolites of various ranges in which measured angles are
displayed originally on display board are based on which one of
the following ?

(1) Special optical technology

(2) Introduction of Microprocessor technology
(3) Electro-optical technology

(4) Special gearing

RN JaEwEcd & R emer fwer 1 W B e § gl
W ¥ Rud 9 9w, uw v % ey we

(D) Fadw eidimw TerieiSl

2) TEHURET A Bl T
() TF-SLBT eI

@) T Pl

Surveys which depict the natural features of a country are known as :
(1) Cadastral surveys

(2) Engineering surveys

(3) Topographic surveys

(4) Geological surveys

TE 3 % WY W WHd e B oqeia ¥, Pt meew ¥

(1) " ad

@) IefE gd

() JuRmwE wJ

(4) SEmiSHa w9
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91  Perpendicular offsets may be taken by setting the right angle in the ratio :

(1) 3:4:5
(2) 2:4:9
3 3:6:9
4 2:4:5
ATHAH o = g §, S DY B § B agew F 9
1) 3:4:5
2 2:4:9
3) 3:6:9
@ 2:4:5

92 A series of closely spaced contour lines represents a :
(1) Steep slope
(2) Gentle slope
(3) Uniform slope
(4) Plane surface
Toiitd ¥ W@ W w @y A o @ oofd 2o
(1) = @9
(2) <r=a @Y
(3) Afent wi
(4 w9 ¥aE

93 In plane table survey, the operation which must be carried out is :
(1) Resection
(2) Orientation
(3) Radiation
(4) Intersection
W A A 9 e % g oed ¥ o
(1) fE®Em
(2) afu=Im
(3) s
(4) ITEEHW
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The U-fork and plumb bob are required for :

(1) Leveling (2) Orientation

{3) Centering ‘ (4) Marking North line

U-%1d ud @i g @ Prg § srexd &

(1) e () SiaReE

(3) =AM @) waT fau & Y@ B s

The bench mark (BM) established by the survey of India is known as the -
(1) GTS BM

(2) Arbitrary BM

(3) Permanent BM

(4) Leveled BM

g oiTw sfear g Wit fear T 9 9wk (BM) @Al o
(1) GTS BM

(2) SRATA BM

(3) W BM

(4) wues BM

The bearing of the line in the direction of the progress of survey is called :
(1) Fore bearing (2) Back bearing

{(3) Reduced level (4) True bearing

Td @ R ¥ @ @ sy Jadiv siieEme ® wed ¥

(1) IR T (2) T IThT

(3) waw ¥ frmEe @) w™ I

For topographical survey of the area vertical angle is taken in :
(1) Chain survey

(2) Plane table survey

(3) Theodolite survey

(4) Dumpy level survey

& % ufes w ¥ Tdea ®ior R wmr ¥

(1) = w

(2) WA 9w ¥

- (3) deEe ¥

(4) = Wa@ §d
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98 The area on the map is measures by the instrument :

(1) Planimeter
(2) Barometer
(3} Current meter

{4) Pyranometer

THY W AT B WGT IF SUGKW F Rear Sem ¥
(1) wHERR

(2) WA

(3) e WX

@) gy

99  Pick up the correct statement :

(1) A line joining the point of same elevation is termed as contour line.

{2) A line joining the points of difference reduce level is known is

contour line.

(3) A line joining the equal slope is termed as contour line.

(4) A line joining the equal length is termed as contour line.

g B B g

(1) b Y@ S I A B Fed ¥ Hee Y@ wedrl B

(2) T @ ST IR oW B AGW F B! § HUEX 1@l Fear 1
(3) TEF WY @bl SET Rl Y@ B @l deel |
(4) TR WSIE B WA AR W@ R BRI YEl BEy B

100 At the valley line the contour line form curve of :

(1) U - shape
(2) V - shape
(3) L - shape
(4) 'R - shape

Y T UT IS Y@ F9el B4 Sl ¥
(1) U~ emer (9ra)
2) V - ammwre (9)
(3) L — amsre ()
4) R — ampr (99)
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